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24.1 INTRODUCTION

Theart of policy making liesin reconciling theory with ground realities. Policy has to be
adjusted if either theory advances or ground realitieschange. In this unit, we analysethe
changing face of development strategy and policiesin India under these twin changes—
changes in theory and in political reality. Many of the changesin Indian policy occurred
because of balance of payments crises—in 1957, 1965-66, 1973-74, 1980-81, and in
1990-91. Also, over the years there was considerabl e research both theoretical and empirical-
looking at the experience of different countries, and this research influenced the Indian policy
makers,

In Section 24.2, we discusstheoretically the issue of whether policy makers should depend

on themarket or there should be planning and government intervention. Initially the opinion

seemed to be that a planned economy could perform better than a market economy. But

developmentsin economic theory and the experienceof the socialist economies resultedin a
radical changein thisview and policy makers cameto rely more on the market. In Section

24.3, we discuss Indian planning—its rationaleand achievements, and in Section 24.4, we

discusstrade policy in India—its role within the Indian planning processand how it was

conducted, In Section 24.5, we discuss the 1991 crisis, and the liberalisation and its
consequences for economic performance. In Section 24.6, we touch upon the issue of the
implicationsof this liberalisationfor Indian democracy, Wearguethat till the mid-sixtiesthere.
was consonance between the objectivesof Indianplanning, economictheory and therealities
of India's economic and political situation. But since the mid-sixtiesthis consonance started

to bregk down; the liberalisationhas brought to theforein amuch sharper form the dissonance
between these aspects of policy making.

242 THEORETICAL DEBATES ABOUT THE USE OF THE
MARKET OR PLANNING AND GOVERNMENT
CONTROLS

A magjor preoccupation of economists in the twentieth century, particularly after the
establishment of the Soviet Union, has been the question of the relative role of the
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government and the marlcet in the management of an economy. This question received
increased prominence with the depression of the 1930s bedeviling the capitalist econormies
and the attempts by newly freed colonies to accelerate growth and improve the living
standards of their people, In recent yearsthis debate between the roles of the government
and of the market has taken the shape of globalisation and liberalisation. By and 1arge
those who favour the market also favour liberdisation, and those who favour a closed
economy favour more government intervention, though the linesof battle are not so clearly
drawn.

There are broadly speaking three sets of beliefs about inanaging an economy. A group
believesthat markets lead to a desirable outcome, what in technical languageiscalled a
Pareto Optimal (PO) outcome, so thereisno need for government intervention. A second
group holds that while there are shortcomings in the operation of a market economy,
government should not intervene, as it cannot improve the functioning of the economy.
Themore pessimistic in this group believe that government intervention would actually
worsen the operation of the economy. A third group believesthat government interventior: can
improve the operation of the economy, though members of this group may differ among
themselves about the extent and nature of the intervention.

We define the basic concept of a PO outcome and its significance in economic analysis
before examining these issuesin detall.

A situation is said to be PO if nobody can be made better off without somebody being
madeworse off. If thereare two individuals, Vinod and Kamd, & en Vinod cannot be made
better off without Kamal being made worse off. We would get a PO better position i f both
Kamal and Vinod could be made better off. S0 if a Stuation is PO we cannot improve
uponit by are-allocation of factors of production or by re-alocating goods between the
individuals. But a Pareto improvement does not say anything about how the gains are
distributed. For instance if the total production in the economy is 100 then if Kamal gets
all the 100 and Vinod gets nothing that is a RO Stuation as we cannot give anything to
Vinod, i.e. improve his situation without reducing the amount available to Kamal. i.e.
making him worse off. One of the weaknesses of the concept of PO isthat it ignores
distributional questions.

What is its strength? I ts strength rises from whet are called thetwo fundamental theorems
of welfare economics. Thefirst says that the outcome of every perfectly competitivesystem
is PO. So if we have perfectly competitive markets and if consumerstry to maximise the
satisfaction they get from consumption and producers try to maximise their profits then
the outcome will be PO. But the PO outcome that results may be very unpalatable or
unwelcome. As we saw aboveif Kamal gets everythingand Vinod gets nothing that isa
PO outcome. But few would think that such an outcome is desirable. This weakness is
. rectified by the Second Theorem, which says that any PO can be reached by a perfectly
competitive economy given an appropriate initial income distribution. So society can et
the market operate and reach any desirable outcomeit wishesfor 0 long asit can adjust
the initial income distribution. So selfishbehaviour leadsto asocialy desirablebehaviour,
Theimplication of the second theorem is that the government should interfere only to
bring about a desirableinitial income distribution and then let the market work.
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These two theorems provide the basisfor much of the belief in the efficacy of the market
system that underlies recent liberalisation in many countries. But the problem is that careless
analysis ignores the qualification that the market system would reach the desired PO only
if the income distribution isappropriate. A second weaknessof the market system isthat
there is no way of guaranteeing an appropriate rate of savings and investment in the
economy. Private individuals may save and invest lessthan issocially desirableleading to
slow growth in income and employment so that poverty would persist; furthermore, if
savingsand investment were not equal, depressions or inflationary episodes would occur.
A developing economy needs an appropriate level of savings and investment to raiseits
rate of growth and improve the living standards of its people.

Would a market economy perform better or worse than a planned economy? This question
was first raised in the context of the debates about planning in the Soviet Union. Lange
and Taylor, by using the economists stylised conceptualisation of how a market economy
reaches equilibrium, showed that a planned economy could reach equilibriumjust as a
market economy. A n autonomous auictioneer isassumed, and he quotes a price. The people
inform him of their demands and supplies a that price. If the demand were greater than the
supply he would then raise the price for the next round and if supply were greater than the
demand he would reduce the price. People would give their demands and suppliesat the
new price and again if demand were greater than supply the auctioneer would raise the
price and if supply were greater than demand he would reduce the price. The process
would continue till a price was reached at which demand and supply were equal, namely
equilibrium was reached Actua transactions would occur only after equilibrium was
reached. Lange and Taylor argued that the real life Planning Board in a planned economy
could play the role of the hypothetical auctioneer in the market case and so ensure that
equilibrium was reached. Furthermore, the state in a planned economy could rectify the
two shortcomings in the market economy. It would bring about a desirable income
distribution. Also the state by its own investments could ensure the socially desirable
growth rate. Thus a planned economy would reach a PO situation, and in fact was more
likely to reach agood PO position. So the first round seemed to have been won by those
who argued in favour of a planned economy.

Later analysis has eniphasised the problem with information flows, The Planning Board
can take appropriate decisions only if it has the right information. But it has no way of
generating this information on its own. It hasto depend on workersand managers in the
public enterpriseto provideit with the information. They may have no incentiveto provide
thisinformation. For instahce, the planning board may need to set a productiontarget for
the enterprise. The workers and managers know much better than the planner what can be
produced. But they may understate what can be produced either in order to produce more
than the norm in order to earn a bonus or because if they give the higher figure this year
they will be expected to produce even more next year and they do not want this higher
target for next year. Furthermore, each individual has special knowledge, which cannot be
transferred to acentral body, and in a centralised system this private knowledgeis lost.
Only with this was the significance of Hayek’s objections against a planned economy
better realised (Stiglitz).

The expectatibn was that in a**sociaist economy", the individual would behave differently.
But for many reasons, the planned economieswere not able to eiminate the alienation that
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plagued workers under capitalism ad build the new "socidist man™. And 0 these
economies were not able to overcome the information problem and the system finally
collapsed.

To acertain extent these economies created their own problems. As we have seen above, a
planned economy can overcomethe problemsof inappropriatelevels of investment and an
unsatisfactozy income distribution that plague amarket economy. But unfortunately, for
reasons not entirely clear, no socialist economy used the market. Instead they relied on
quantitativeinstructions from the Planning Board lo various agents. For instance, the statecan
supply food to al through government shops or can give everyone an income and let them
buy what foods they want. In the latter case, the government uses the market to provide
everyonewith adequate nutrition while in the former case the government would haveto find
out what foodseach oneliked or risk that the food supplied may not be eaten. So the market
should belooked as one of the many instrumentsthat the government can useto achieveits
objectives.

24.3 DEVELOPMENT PLANNING IN INDIA

When India embarked on its planning adventure, the economy was predominantly
agricultural with a very small industrial sector limited to mainly the cotton and jute
indudtries, and alow rate of savings of about 10 percent. (For further discussionsee Bhagwati
and Chakravarty, 1969 and Chakravarty, 1978). In addition, the entrepreneuria classhad
limited experience with operating industrial enterprises; Indian entrepreneurswere mainly
involved in trading activities, and had experienceof operating only in the textile industry.
A higher rate of growth was needed to reduce the extent of poverty in the country and
improvethe living standards of the people. But accel erating growth would require higher
investments and larger imports of capital goods, as such goods were not produced
domestically. These imports could not be paid for by higher exports of agricultural ‘goods,
becauselarger agricultural exports would lead to aworsening of the terms of trade so that
export earnings would not increase by much. Furthermore, because of the adverse land-
man ratio in India, development had to be based on indudtrialisation (Chaltravarty). This
industrialisation could not be oriented towardsthe external market, because of fearsof a
slow going world economy, protectionism in the developed countries (Nurkse) and lack of
competitiveness because workersin India were not industrially disciplined and not well
trained. Therefore, industrialisation was to be achieved by developing industries by
preventing imports. So India's adoption of apolicy of impos substituting industrisalisation
(1Sl) was supported by theory, the Indian economic situation and corresponded to
thedevelopment policies adopted by most devel oping countries.

In Indiathe state was the agent for bringing about thisindustridisation. (Later in the unit we
will discuss the role of government in a more liberalised economy.) This was because
Indiawent in for import substitution in basic industries. Theoretical models showed that
such import substitution would lead to a higher rate of growth. (For further discussion
see Bhagwati and Chakravarty, 1969 and Chakravarty, 1978). Development of basic
industrieswould free the economy from dependence on imports and so support self-reliance,
an important objective. In particular, development of a defence industry would be made
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easier and o ensure India's self-reliance in defence production. Private capitalistswere
not keen to invest in such industries as the scale of investments in these industries was
large and no output would be produced for many years. Furthermore, state investment in
these basic industries would aso prevent undue concentration of wealth. Most other
developing countries undertook import substitution in consumer goods industries.
Investments i n these: industries were made by transnational corporations(TNCs) who had
earlier been producing these goods in the devel oped countries and exporting them to the
developing countries (see Agaswal Rodrik, 1996 and Ropdrik and Rodriguez, 2001).

For afew years developing countries grew rapidly; then they ran into difficulties-notonly
those who had adopted import substitution in consumer goods but also those who had
adopted import substitution in capital goods. These difficulties manifestedthemselves as
the countries running large balance of payments (BOP) deficits as their export earnings
were much smaller than their import payments and so could not continue to pay for their
imports. So developing countries had to adjust.

Most countries made adjustments in their trade policies to lay greater stress on exports.
Countries like Brazil and Colombia allowed their exchange rate to periodically devalue so
" that their exports remained competitive and grew. Otherslike India provided subsidies to
exportsin order to encourage exporting. Countries in East Asia, Korea, Taiwan, Singapore
and Hong Kong, made more radical departuresto encourage exports—and it waslater said
that they followed an export led devel opment Strategy.

24.4 TRADE POLICY IN INDIA BEFORE 1991

India, as noted above, had also opted for an ISI strategy. It faced difficulties in the
BOP—there was a crisis in 1957-58 and then in 1965-66. Faced with BOP difficulties
Indian policy makers sought new sources for funds and also undertook some adjustment
measures. For instance, after the 1957-58 crisis, India approached the World Bank for
assistance and the World Bank established the Aid India Consortium. Aid through this
consortium financed much of the public investmentsin the Second and Third Year Plans—
about athird. The size of the Plan wasal so reduced —there was a big debate about how the
size of the plan should be adjusted. Subsequently, in the Third Plan (1961-65) the
government provided variousexport incentivesin order to increase export earnings.

The 1965-66 crisis resulted in more far-reaching changes. Agricultural policies were
changed asone of the causes of the crisis was the increasingimport of foodgrains, and the
Green Revolution was ushered in. The changesin agricultural policieswere successful in
rising the rate of growth of agricultural output and make Indiasdlf-reliant infood production.
Trade policies were also changed, including a devaluation of the rupee. But there was
much less political support for the changes in trade policies than for the changes in
agricultural policiesand these were soon reversed. The disputes with the donorsresulted
in a stoppage of aid by the World Bank and the US. The Indian Government adjusted to
this cutback by having a Plan holiday for a few years and undertaking measuresto raise
the domestic rate of savings(Agarwal, Bowles).

The experience of these years had an enormous influence on Indian policy makers. The
adjustment measures, an early experience of structural adjustment, resulted in adeclinein
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per capitaincome. Asearly as196( Indian policy makerswere concerned that the growth
was not generating enough employment and so was leading to a reductionin poverty. A
committeewas set up to study the situation and recommend policy adjustments. With the
slowdown of growthfollowingthe 1966 crisisthe implicationsfor poverty reduction were
stark and the question was how to implement Mrs. Gandhi’s promiseof "' Garibi Hatao".

Thetechnical note to the Fourth Plan examined the optionsin great detail. They assumed
that it would not be politically possibleto reduce the consumption of the higher consuming
classes. It was assumed instead that the income of the higher consuming classeswould be
kept constant and all the additional consumptionwould be granted to the poor: Even under
these assumptions they found that a high rate of growth of over 7 percent per year would
be required to reduce poverty significantly in ashort time. The analysisin the technical
note explainswhy poverty reduction has been so significantin the eightiesand ninetiesas
the economy grew a almost 6 per cent ayear during this 20-year period.

The BOP crisis of 1973-74 aso resulted in a mixed response of seeking new sources o
finance and adjustment. Borrowings were undertakenfrom the ail facility of the Fund and
fromthe Fund's Trust facility. Also investments were madein oil exploration and refining
leading to lesser dependence on oil imports. This lesser dependence helped in the
management of the ecv nomy in the seventies and even morein the eighties when export
earnings were stagnant. The BOP crisisof 1980-81 resulted in India borrowing from the
Fund and later in the eighties|ndiastarted tapping Non-Resident Indians and commercial
Banksfor funds.

But dl through this period Indiacontinued with itsbasic policy of ISl. One problem, though,
wasthat with government investment diverted first to agricultureand then to oil exploration
and refining, there was a squeeze on investment in the inhastructure sector, which had
longer-term consequences, and on investment in manufacturing so that greater reliance
hed to be placed on the private sector and emphasis shifted from basc industriesto consumer
industries. Adjustments were made to trade policy in the seventies and eighties to make
imports of intermediate goods and componentseasier as lack of these during the strict
import control regime period had prevented better utilisation of installed capacity. More
intermediate imports allowed better utilisation of installed capacity and so improved

efficdency.

245 1991 CRISIS, LIBERALISATION AND ITS ECONOMIC
CONSEQUENCES

Since the mid-sixtieseconomists started studyingintensively the effect of trade policy on
economic performance. Though thereis no consensus about the conclusionsdrawn from
these studies, most trade specialists conclude that economies adopting outward oriented
policies perform better than countries adopting IST policies (For a discussion of these
issues, see Bhagwati (1978). For an andysisof the Indian case, see Bhagwati and Srinivasan).
These studies also identify anumber of factors that reduce economic efficiency in countries
adopting ISI policies. For instance, in Indiathe foreign exchange control regime had to
allocate foreign exchange among companiesin an industry for import of raw materials. It
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isvery difficult to judge efficiency of firms. So the officialstended to allocate the foreign
exchange in proportion to production or, more often, capacity. This meant that no effort
was made to distinguish between efficient and inefficient firms. If allocation was done on
the basis of capacity it encouraged firmsto have more capacity so that capacity utilisation
was low and capital was being wasted in acountry that wasshort of capital. WWhen decisions
about expansion were to be made, the licenses were divided among all the applicants
without consideration being given to efficiency. Again therefore efficient and inefficient
firms grew at about the same rate. Such allocation rules were a major reason for the slow
growth of productivity in Indian industry which has been documented by many researchers.

The broad opinion among economists is that very high ratesof tariffslead to inefficiency
and should be avoided. For instance, if aduty of 400 percent islevied on a good in India,
it means that Indian producers can be 400 per cent less efficient than foreign producers and
the cost is borne by poor Indian consumers. The future benefits, such as becoming more
efficient later etc. are rarely large enough to justify this large cost now. But there is no
unanimity of what the low level of tariff should be. Some economists would go all the way
to free trade, most would opt for 10 to 25 percent, and some may go as high as 35-45
percent. All would favour afew tariff rates. Thisis purely for administrative reasons. If
there memany rates, then considerabletime can be wasted in deciding what rateis applicable
for aparticular good and opportunity for corruption is created. Also economists would by
and large not favour use of quotas (QRs).

The result of the considerable amount of research done on the effect of trade policy on
economic performance and conditionality attached to Bank and Fund loans has been that
most developing countries have abandoned the ISI regime that they had adopted earlier.
Most have no QRs—only 7 small countries still maintain QRs. The developed countries
have tariffsthat average about 4 percent. This isin contrast to the average rate of about 40
percent at the end of the Second World War. Almost 50 percent of the imports into these
countries were duty free.

Of course the picture from the viewpoint of developing countries is not so rosy as the
developed countries tend to impose higher tariffson goods exported by developing countries.
Developing countries have also reduced the tariffs in imports, Average import tariff in
most developingand transitioneconomies is now about 10 percent.

Indian policy makers, tackling the 1991 crisis, took the stance that trade restrictiveness
was not an appropriate policy, and that the economy should become more open. Also the
industry regulationsthat had governed entry into an industry and also governed how much
acompany could produce, had outlived their usefulness. Indian policy makers have drastically
reduced the level of protectionin i;he economy, The maximum tariff wasreduced from almost
400 percent to about 40-50 percent, the average tariff from about 100 percent to about 20
percent. All QRs on manufacturing imports were eliminated after Indialost adispute before
the dispute settlement board a the World Trade Organisation. Earlier all QRs on agricultura
imports wereeliminated as part of the agreement a the multilateral trade negotiationsknown
asthe Uruguay Round. Though, Indiahas liberdised itstrade regime considerably, it still has
amorerestrictiveregimethan other countries. Interna regulationson industrial investment have
aso beeneliminated and the inflow of foreign capital liberalised.



Economic performance since the liberalisation has not been dramatically different from
that of earlier period and this has generated considerabledebate. The rates of growth of
agriculture and manufacturing as well as total Gross Domestic Product have been about
the same. There seemsto be no strong evidence that therate of growth of productivity in
Indian industry has increased after the liberalisation. Poverty decreased quite rapidly in
the eighties. Poverty has continued to decreasein the nineties after the liberalisationthough
a a somewhat slower pace (For a detailed discussion of poverty trends in India see
Tendulkar, 2003.)

24.6 LIBERALISATION AND DEMOCRACY

The liberalisation has however generated a vigorous debate about itsiinplicationsfor poverty
reduction, empowerment and democracy. The objectiveof Indian policy makers sincethe
inception of planning was to achieve what is today called "just growth”, namely growth
that reduces poverty and leads to amore equal distribution of income and is accompanied
by democracy. Democracy and a more egalitarian econoniic system were believed to be
connected—-political rights could not be guaranteed without econoinic rights. Economic
rights’ conisisted both of reducing poverty and reducing inequality. There seemed to be no
contradiction between -educed poverty and reduced inequality. Ever since the 1971 “Garibi
Hataon” slogadbf Mrs Indira Gandhi, the public has been aware of the need to reduce
poverty and i income inequalities. The constitution had itself recognised-this duty and had made
plOVlSlon for reservation to achieveamore;just society. Once the notion of state actionto help
-the' disadvantaged was accepted, there was increasing number of claimants, and various
B people-ﬁn ned: groups to champion their causemore effectively. The scopefor reservationhas
. nincreased aver the yearsand many programmesestablishedto improve both the condition
of the‘poor and to provide more power to them.

Increa5| ngly, resources have been diverted towards many explicit and implicit subsidies,
One effect of these subsidies has been the increasing budget deficit of the central and state
governments. These deficits have left little scope for further employment in the public
sector — increasing public sector employment was one of the waysto bring disadvantaged
groups into the system.

Though nobody would claim that all disadvantages have been eliminated, considerable
progyess had been made in reducing poverty. Progresshad aso been made in empowerment
if one looks at the number of representatives fiom the weaker sections in parliaments or
sharein ministries or even among chief ministers. But thereis a very real question about
the sustainability of this progress. Serious constraints have emerged. There isconsiderable
over-manning in the public sector, which has reduced public investment and future growth
and employment. The ladc of government investment hasresulted in avery poor and outdated
infrastructure which is a constraint to faster growth. Education and health have been
1eglected and increasingly people have to depend on expensive private education and
1ealth. There is, @ the moment, avery rea conflict between the need to grow faster and to
lave a better distribution. Liberalisation, by raising therate of growth, could providethe
wherewithal for further redistribution. But, unfortunately, investments in infrastructure
ind in human capital arerequiredto regp greater benefitsfrom liberalisation.
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But & the moment that does not seem to be happening. The lack of employment growth is
prompting demands for reservation in the private sector also. It is difficult to see how such
reservation can be combined with apolicy of greater reliance on the market. Society faces
serious challengesif it isto succeed in providing just growth.

Just growth could result from globalisation, if that is properly managed. Globalisation is
the increasing integration of different national economies; because of liberalisation, the
elimination of restrictions has resulted in greater flows of both goods and capital flows.
Liberalisationcan help in reducingpoverty. A more liberal trade policy will help Indiato
export labour intensive goods, namely goods in the production of which considerable
labour are employed. Thereis evidence to suggest that this is happening since the
liberalisation. Expansion of [abour intensive exports implies growth in employment, and
provision of jobs is the surest way to help a poor person overcome poverty. But for the
best results the employment that is created should be a high wages. Wages are higher if
skilled jobs are created. But for peoplelo find skilled employment they must be educated.
A strong need at this moment is for the government to provide good education.
Unfortunately, the standard of public education has been declining, and the cost of private
educationrising. Thissituation needsto be rectified urgently if the society isto make the
most of the opportunities provided by liberalisation and achieve just growth.

Unfortunately, thereis an evidence that globalisation tends to increase income inequality.
Therefore, globalisation bringsto the fore a possible conflict between poverty reduction
and reducing income inequality, a possible contradiction that had been ignored earlier in
India

Globalisationchangesthe role of thestate, thoughit does not necessarily lead to its reduction.
Instead of the state being involved directly in production, the statehas to provide both physica
and human capital. It aso hasto act to draw the poor into the economic system and to
improve their situation. Furthermore, the state has to act to regulate private enterprise.
Instead of increasing the production, the state sets up regulatory institutions. It is not clear
that it would be any easier to protect regulatory agenciesfrom political interference and
thus leading towards inefficiency. Liberalisation raises new questions about the role of
the state to achievejust growth.

24.7 SUMMARY

The beginning of the 1990s saw a mgjor change in the Indian economic policies. The
balance of payments crisis led to the policy of economic liberalisation of the Indian
economy. A higher growth rate was needed, that required not only higher investments but
also larger imports of capital.goods. The policy of import substituting industrialisation
that complements the devel opment policiesseemed 10 be aviable option, an option adopted
by many developing countriesin the earlier years. But with theamount of export earnings
remaining relatively low than its import payments, the devel oping countries had to adjust-
their economic policies accordingly, The policy makersof Indiarealised the disadvantages
of trade restrictiveness. Consequently, the economy was opened up enabling the inflow bf /
foreign capital and indugtria investment.



Thefocus has shifted to “just growth™ wherein an equa distribution of income isensuredit
ademocratic setup, thereby linking the political and economicrights. Though there have beex
claims about the advantagesof the liberalisation, the lack of government investment has |
to an outdated infrastructure thereby stagnating the growth. The elimination of restriction:
failed to generate the corresponding benefits. Theneed of the hour is to make the most ou
of theopportunities provided by globalisation/ liberalisation. The role of the state, in thi:
context, is crucial in not only improving the existing situation but aso thwart moves toward:
inefficiency. Thus the state can ensure a positive outcome of the liberalisation policies anc
achievejust growth.

24.8 EXERCISES

1) Whatisamarket economy?Explainitsadvantagesand disadvantages.
2) What do you understand by aplanned economy?

3) Writeashort noteon India’s economic scenario prior to 1991.

4)  What arethe economic consequencesof liberalisationin India?

5 Howdoesliberalisation helpinensuring”just growth™?
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